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L XOFATEQXAAAE RIS LAERH 2R AL GEFRIBZ TN  HIGEEH
Flde T 0 R AS5,000,000 0 Bk 652,500,000 ESERAKE > BB TuKLES
$2,100,000 » H4rit 4 MM34E  PELARBEEA MRS - A% SN EEIERE  PEL
ARXIFOANE AN ERa LA BB E BN EAG L ER B A EZhE
FEF 2T AR EAHFLO00,000 - PEXHBEFIRE X REXIIEI2A31 84 h & Fo%
BHEZIFAABETA£52,150,000 - F LA NHANIZET H308 22352,130,000 8 & 5k B o =
ETs Rzl o (DXI4E6A308 () XI14£68308 5 (3)XI2HE14308 5 (4) BR+LE
RERKIZEIASOB R RFE S B E e H 83 E B3 2R 5B 90T i 58 4 52,000,000 >
HXI1241 308 & 24 - (20%)

4. Fill in the dollar changes caused in the Investment account and Dividend Revenue of Investment
Revenue account by each of the following transactions, assuming Chung Cheng Company uses (a) the

fair value method and (b) the equity method for acoounting for its investments in AIT Company. (15%)

{2) Fair Value Method {1y Equity Method
Investment Dividend Investment Investment
Transaction Account Revenue Account Revenue

1. At the beginning of Year i, Crane bought
30% of Hudson's ordinary shares at their book
vaiue. Total book value of all Hudson's
crdinary shares was $800,000 on this date.

2. During Year 1, Huadson reported $60,000 of
net income and paid 330,000 of dividends.

3. During Year 2, Hudson reported $30,000 of
net income and paid $40,000 of dividends.

4. During Year 3, Hudson reported a net loss of
£10,000 and paid $5,000 of dividends.

5. Indicate the Year 3 ending balance in the
Investment accouni, and cumulative totals for
Years 1, 2, and 3 for dividend revenue and
investment revenue.

3. FEAMNKT F1 A1 BHHEAROEIENE - SHAEREARRAN B RATENE
G —MEMEPT T RN E L e R84 S S IEPIG B ER R B XI0 F
12 B30 8 ¥ R4 B A B PR RO B4R ELP 552,200,000 A EFERER
FIEAERABE L - AT AR EHEANI0 £12 B3 UEAREGHAGRE TR -



iﬂ%ﬁiﬁa%—% 101 £ # F 2 L3 8 &£ % A A&
&

EHHERARE R FE P ReH
A

VE @ &4 | NRABE B B B 4 TR

b $ 100,000 $ 100,000

TRV 3 700,000 700,000

+ e 4,500,000 ?

-y ] 5,500,000 ? 10 S

EHh 2,000,000 1,800,000 5 #

& 460,000

Bt B4 10,400,000 10,400,000

&3 - $2,800,000

CEHMENRETELENALAES EATEMERELRANZRALRE  WF (1) BR
XKIGHE12ZA3IB Y B A RAY BTS2 N A[BEA52,000,000 0 48 B TELSBH & DH -
@) BEXUSFERFASENM2 287 AFLFAAY B ELR  XIIFI2A3I B RAHENR
PUERE 2 0 A B 48 A 52,400,000 - B2 N A BEA5L,750,000 - Hid ~ BULRKREAEE
Z W& 285 %) % $250,000 - $1ogz}009 E$10,200,000 P E A EABANBZHEEN -
(15%)

FALAR 20114 12 8 51 8 FREAT 2 50 - O%E EAE - 8 86,000,000 825755 -
SN AREFNA R 2ANBME R A EB AN B TELI 2 RETR %%@w%’fﬂﬁﬁﬁﬁﬁ
S AR RN AN MG S B ERY > SRR BB R TR G R R - M F)
FBAHRLERS FomD T EE RAA 201 FRBEBRTEN2FHZAELREY
AL L B A HS6000000 0 A XAFH (I 6188 MAATR EIRA RS RE) @
FATHRB R A E 9% « BNERAF L DS TE - 4o 648 H BETE EHEH E4 2011
F12A31BH % BXBEXEA G EH—K -

SN A A AT A RET AR RSN EBHRAARF > ERTERASAA
MR FEBL - FREEEANRTAERRAE > HE TR SHRLAEHLAEE

B CAER MRERATR B4R | HEZHAAME | DABLAEE
2011 %12 A351 8 8.0% - 6,000,000
2012 %6 F 30 B 8.5% {120,000) 5,880,000
2012 £ 12 A 31 8 7.0% 36,000 6,036,000
HEHUTHME &5 (AB83H 15 4)

(1) FABEe -ﬂLm«imﬁli T AR EE R RRET B x%ﬁ%ﬂ$x%§¢\ﬂ’ﬂ'u\ﬁﬁﬂ\
AARE B T (5 40)

(2011 12 431 8 > R BEARETHELRE O g4 AT Y (25

(3) 2012 %6 4308 LAHEAMNE FEZHRALSHETY FREHEOIKAET? (45

(4) 2012 %12 B 31 B AMBEHAHAE A EXRSGYEELY -FEBHAOTHAT? (4 "‘)
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BENNEEREREANAER 2NN IR Ko AOER e R4 NS SR E R0 TS
THRE LEEETE AR AT A Y RPN LB 80 EE - BR RN 201251 A |
BH&EE TRITFAAN 02 EFRATR22FH AE—BIENELIHFF -

TR | S#8E 2012555 ] 2012 S0 | 2012 R AR A HIAI A RA
RF 240,000 205,000 200,000 190,000 16,000
W 280,000 280,000 255,000 . 186,000 0

TF 515,000 340,000 310,000 424,000 101,000
"E 690,000 210,000 210,000 195,000 455,000
FF 560,000 150,000 100,600 302,000 247,500
BT 800,600 800,000 700,000 615,000 0

AU T A B F R (RERMRE 1T 4)

(D RRELE bk (R EE PR THRA) »H 4 LA XEIEL 2012 FESTL
TR, l%%déﬂ%ﬁ%e@é@i PREBE AR IENELE - (45

(D202 FI2A3 B FRERIRARIEORET CETEKAGEE)BRA M SBEMT 2
(24) '

C) BEFHFEBAZEA SEFFETUSN K - B REATICE 35 LENHIEE 2012
FES TORR,) moABRBANME > RALZETRGEBLE - (45)

(4) MM ARAATTHREORCVINEHEE A SRS BRETREAN T 7 2o RARAT R
PR KT T Stk AR TR B RS « (59

) HEFPAEN W05 FEANBRER S EM 2 E—RE > ¥R L TEGERN AN it
AWM RGEIIAS 11 RIAS 18 R\I A RHHE MR EAM? (25)

Lake Placid Corporation, founded in 1995, mainly produces and sells office supplies. With substantial
success in growth and internalization in 2012, Lake Placid manages to expand its operation via fund
raising from public markets. Before going public, Lake Placid poaches a financial adviser from
Bast-Asia CPA Firm. The adviser examines the financial statements of Lake Placid Corporation for the
vear ended December 31, 2012. He discovers the following sifnations.

1. Depreciation of $50,000 for 2012 on delivery vehicles was not recorded.

ii. The physical mventory count on December 31, 2611, improperly excluded merchandise costing
$35,000 that had been temporarily stored in a public warehouse, Lake Placid uses a periodic
inventory system.

iti. Lake Placid has a portfolio of investments that ig manages to profit from short-term price changes.

No entry has been made to adjust to fair value, In formation on cost and fair value is as follows.

Date Cost Fair Value
December 31, 2011 $166,000 $166,000
December 31, 2012 $125,000 $121,000

1v. At December 31, 2012, an analysis of payroll information shows accrued salaries of $320,000. The
Accrued Salaries Payable account had a balance of $3 70,600 at December 31, 2012, which was
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unchanged from its balance at December 31, 2011.

v. A large piece of equipment was purchased on January 1, 2012, for $800,000 and was charged to

Vi,

Repairs Expense. The equipment is estimated to have a service life of 13 years and residual value
of $20,000. Lake Placid normally uses the straight-line depreciation method for this type of
equipment.

A patent was acquired at the beginning of 2010 for $900,000. No amortization has been recorded

since its acquisition. The maximum allowable amortization period is 9 years.

[ Required] {Ignore income tax consideration / AR 18 7

i

Led

Assume the trial balance has been prepared but the books have not been closed for 2012. Assuming
all amounts are material, prepare journal entries showing the adjustments that are required. ( 12 5)
Assume the books have been closed for 2012 and all amounts are material, prepare the first
situation’s journal entries showing the adjustments that are required. ( 2 %)

in the examining process, the adviser finds a new problem, The machine-X is originally estimated
to0 have a service life of 10 years and no residual value. During the tenth year, 2012, the machine is
re-evaluated and is supposed to work for another 3 vears. According the current GAAP, Lake
Placid can continue to use the machine without depreciation. Under IFRSs, does Lake Placid need

to adjust for the change in accounting estimate? Comment on the change for adopting IFRSs. (4 4)
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